# Some identities on $r$-central factorial numbers and $r$-central Bell polynomials 

Dae San Kim ${ }^{1}$, Dmitry V. Dolgy ${ }^{2}$, Dojin Kim ${ }^{3 *}$ and Taekyun Kim ${ }^{4}$
*Correspondence:
kimdojin@pusan.ac.kr
${ }^{3}$ Department of Mathematics, Pusan National University, Busan, Republic of Korea
Full list of author information is available at the end of the article


#### Abstract

In this paper, we introduce the extended $r$-central factorial numbers of the second and first kinds and the extended $r$-central Bell polynomials, as extended versions and central analogues of some previously introduced numbers and polynomials. Then we study various properties and identities related to these numbers and polynomials and also their connections.


Keywords: Extended $r$-central factorial numbers of the second and first kinds; Extended $r$-central factorial Bell polynomials

## 1 Introduction

For $n \in \mathbb{N} \cup\{0\}$, as is well known, the central factorials $x^{[n]}$ are defined by

$$
\begin{equation*}
x^{[0]}=1, \quad x^{[n]}=x\left(x+\frac{n}{2}-1\right) \cdots\left(x-\frac{n}{2}+1\right) \quad(n \geq 1)(\text { see }[7-11,18]) . \tag{1}
\end{equation*}
$$

It is also well known that the central factorial numbers of the second kind $T(n, k)$ are defined by

$$
\begin{equation*}
x^{n}=\sum_{k=0}^{n} T(n, k) x^{[k]} \quad(\text { see }[7,8,18]), \tag{2}
\end{equation*}
$$

where $n$ is a nonnegative integer.
From (2), we can derive the generating function for $T(n, k)(0 \leq k \leq n)$ as follows:

$$
\begin{equation*}
\frac{1}{k!}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k}=\sum_{n=k}^{\infty} T(n, k) \frac{t^{n}}{n!} \quad(\text { see }[7,8,11]) \tag{3}
\end{equation*}
$$

Recently, Kim and Kim [10] considered the central Bell polynomials given by

$$
\begin{equation*}
e^{x\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)}=\sum_{n=0}^{\infty} B_{n}^{(c)}(x) \frac{t^{n}}{n!} . \tag{4}
\end{equation*}
$$

When $x=1, B_{n}^{(c)}=B_{n}^{(c)}(1)$ are called the central Bell numbers.

From (4), we can find the Dobinski-like formula for $B_{n}^{(c)}(x)$ :

$$
\begin{equation*}
B_{n}^{(c)}(x)=\sum_{l=0}^{\infty} \sum_{j=0}^{\infty}\binom{l+j}{j}(-1)^{j} \frac{1}{(l+j)!}\left(\frac{l}{2}-\frac{j}{2}\right)^{n} x^{l+j} \quad \text { (see [10]). } \tag{5}
\end{equation*}
$$

The Stirling numbers of the second kind are defined by

$$
\begin{equation*}
x^{n}=\sum_{k=0}^{n} S_{2}(n, k)(x)_{k} \quad(n \geq 0)(\text { see }[2-4,6,13-15]) \tag{6}
\end{equation*}
$$

where $(x)_{0}=1,(x)_{n}=x(x-1)(x-2) \cdots(x-n+1)(n \geq 1)$.
From (6), we can easily derive the following equation (7):

$$
\begin{equation*}
\frac{1}{k!}\left(e^{t}-1\right)^{k}=\sum_{n=k}^{\infty} S_{2}(n, k) \frac{t^{n}}{n!} \quad(k \geq 0)(\text { see }[4,16,17]) \tag{7}
\end{equation*}
$$

In this paper, we introduce the extended $r$-central factorial numbers of the second and first kinds and the extended $r$-central Bell polynomials, and study various properties and identities related to these numbers and polynomials and their connections. The extended $r$-central factorial numbers of the second kind are an extended version of the central factorial numbers of the second kind and also a 'central analogue' of the $r$-Stirling numbers of the second kind; the extended $r$-central Bell polynomials are an extended version of the central Bell polynomials and also a central analogue of $r$-Bell polynomials; the extended $r$-central factorial numbers of the first kind are an extended version of the central factorial numbers of the first kind and a central analogue of the (unsigned) $r$-Stirling numbers of the first kind. All of these numbers and polynomials were studied before (see $[1,5,7,8$, 10, 12]).

## 2 Extended $r$-central factorial numbers of the second kind and extended $r$-central Bell polynomials

Let us first note that, by (3) and (4),

$$
\begin{align*}
\sum_{n=0}^{\infty} B_{n}^{(c)}(x) \frac{t^{n}}{n!} & =\sum_{k=0}^{\infty} x^{k} \frac{1}{k!}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k} \\
& =\sum_{k=0}^{\infty} x^{k} \sum_{n=k}^{\infty} T(n, k) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} x^{k} T(n, k)\right) \frac{t^{n}}{n!} \tag{8}
\end{align*}
$$

Comparing the coefficients on both sides of (8), we have

$$
\begin{equation*}
B_{n}^{(c)}(x)=\sum_{k=0}^{n} x^{k} T(n, k) \quad(n \geq 0) \tag{9}
\end{equation*}
$$

For any nonnegative integer $r$, we introduce the extended $r$-central factorial numbers of the second kind given by

$$
\begin{equation*}
\frac{1}{k!} e^{r t}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k}=\sum_{n=k}^{\infty} T_{r}(n+r, k+r) \frac{t^{n}}{n!} \quad(k \geq 0) \tag{10}
\end{equation*}
$$

Remark 1 In [11], the extended central factorial numbers of the second kind were defined as

$$
\frac{1}{k!}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}+r t\right)^{k}=\sum_{n=k}^{\infty} T^{(r)}(n, k) \frac{t^{n}}{n!}
$$

Note that these numbers are different from the extended $r$-central factorial numbers of the second kind defined in (10).

From (3) and (10), we see that

$$
\begin{align*}
\sum_{n=k}^{\infty} T_{r}(n+r, k+r) \frac{t^{n}}{n!} & =\frac{1}{k!} e^{r t}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k} \\
& =\left(\sum_{l=k}^{\infty} T(l, k) \frac{t^{l}}{l!}\right)\left(\sum_{m=0}^{\infty} r^{m} \frac{t^{m}}{m!}\right) \\
& =\sum_{n=k}^{\infty}\left(\sum_{l=k}^{n}\binom{n}{l} T(l, k) r^{n-l}\right) \frac{t^{n}}{n!} \tag{11}
\end{align*}
$$

Therefore, by comparing the coefficients on both sides of (10), the following identity holds.

Theorem 1 For $n, k, r \in \mathbb{N} \cup\{0\}$ with $n \geq k$, we have

$$
T_{r}(n+r, k+r)=\sum_{l=k}^{n}\binom{n}{l} T(l, k) r^{n-l}
$$

Next, we write $e^{(r+x) t}$ as follows:

$$
\begin{align*}
e^{(r+x) t} & =e^{r t} \sum_{k=0}^{\infty}(x)_{k} \frac{1}{k!}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k} e^{\frac{1}{2} k t} \\
& =\sum_{k=0}^{\infty}(x)_{k} \sum_{l=k}^{\infty} T_{r}(l+r, k+r) \frac{t^{l}}{l!} \sum_{j=0}^{\infty}\left(\frac{k}{2}\right)^{j} \frac{t^{j}}{j!} \\
& =\sum_{k=0}^{\infty}(x)_{k} \sum_{n=k}^{\infty}\left(\sum_{l=k}^{n}\binom{n}{l} T_{r}(l+r, k+r)\left(\frac{k}{2}\right)^{n-l}\right) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} \sum_{l=k}^{n}(x)_{k}\binom{n}{l} T_{r}(l+r, k+r)\left(\frac{k}{2}\right)^{n-l}\right) \frac{t^{n}}{n!} . \tag{12}
\end{align*}
$$

On the other hand, $e^{(r+x) t}$ can be written as

$$
\begin{equation*}
e^{(r+x) t}=\sum_{n=0}^{\infty}(r+x)^{n} \frac{t^{n}}{n!} . \tag{13}
\end{equation*}
$$

Therefore, by the two expressions in (12) and (13) for $e^{(r+x) t}$, we obtain the following identity.

Theorem 2 For $n \geq 0$, we have

$$
(r+x)^{n}=\sum_{l=0}^{n} \sum_{k=0}^{l}(x)_{k}\binom{n}{l} T_{r}(l+r, k+r)\left(\frac{k}{2}\right)^{n-l} .
$$

In view of (4), we may now introduce the extended $r$-central Bell polynomials associated with the extended $r$-central factorial numbers of the second kind given by

$$
\begin{equation*}
e^{r t} e^{x\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)}=\sum_{n=0}^{\infty} B_{n}^{(c, r)}(x) \frac{t^{n}}{n!} \tag{14}
\end{equation*}
$$

Remark 2 In [11], the extended central Bell polynomials were defined as

$$
e^{x\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}+r t\right)}=\sum_{n=0}^{\infty} B e l_{n}^{(c, r)}(x) \frac{t^{n}}{n!} \quad(r \in \mathbb{R}) .
$$

Observe here that these polynomials are different from the extended $r$-central Bell polynomials in (14).

From (14), we note that

$$
\begin{align*}
\sum_{n=0}^{\infty} B_{n}^{(c, r)}(x) \frac{t^{n}}{n!} & =e^{r t} e^{x\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)} \\
& =\sum_{k=0}^{\infty} x^{k} \frac{1}{k!} e^{r t}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k} \\
& =\sum_{k=0}^{\infty} x^{k} \sum_{n=k}^{\infty} T_{r}(n+r, k+r) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} x^{k} T_{r}(n+r, k+r)\right) \frac{t^{n}}{n!} \tag{15}
\end{align*}
$$

By the comparison of the coefficients on both sides of (15), we can establish the following theorem.

Theorem 3 For $n \geq 0$, we have that

$$
B_{n}^{(c, r)}(x)=\sum_{k=0}^{n} x^{k} T_{r}(n+r, k+r)
$$

Next, we observe that

$$
\begin{align*}
\frac{1}{k!} e^{r t}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k} & =\frac{1}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l} e^{\left(l+r-\frac{k}{2}\right) t} \\
& =\sum_{n=0}^{\infty}\left(\frac{1}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l}\left(l+r-\frac{k}{2}\right)^{n}\right) \frac{t^{n}}{n!} \tag{16}
\end{align*}
$$

By using the central difference operator $\delta$, which is defined by

$$
\begin{equation*}
\delta f(x)=f\left(x+\frac{1}{2}\right)-f\left(x-\frac{1}{2}\right) \tag{17}
\end{equation*}
$$

we can show that

$$
\begin{equation*}
\delta^{k} f(x)=\sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l} f\left(x+l-\frac{k}{2}\right) \quad(k \in \mathbb{N} \cup\{0\}) . \tag{18}
\end{equation*}
$$

We combine (18) with (16) to derive an equation for $e^{(r+x) t}$ as follows:

$$
\begin{equation*}
\frac{1}{k!} e^{r t}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k}=\sum_{n=0}^{\infty} \frac{1}{k!}\left(\delta^{k} r^{n}\right) \frac{t^{n}}{n!} \tag{19}
\end{equation*}
$$

From (10) and (19), we note that

$$
\frac{1}{k!}\left(\delta^{k} r^{n}\right)= \begin{cases}T_{r}(n+r, k+r), & \text { if } n \geq k  \tag{20}\\ 0, & \text { if } n<k\end{cases}
$$

Therefore, by (20), we obtain the following theorem.

Theorem 4 For $n, k \geq 0$, we have

$$
\frac{1}{k!}\left(\delta^{k} r^{n}\right)= \begin{cases}T_{r}(n+r, k+r), & \text { if } n \geq k \\ 0, & \text { if } n<k\end{cases}
$$

By combining Theorems 3 and 4, we easily get

$$
\begin{equation*}
B_{n}^{(c, r)}(x)=\sum_{k=0}^{n} x^{k} \frac{1}{k!}\left(\delta^{k} r^{n}\right) \tag{21}
\end{equation*}
$$

From (14), we have

$$
\begin{align*}
\sum_{n=0}^{\infty} B_{n}^{(c, r)}(x) \frac{t^{n}}{n!} & =e^{r t} e^{x\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)} \\
& =\left(\sum_{l=0}^{\infty} B_{l}^{(c)}(x) \frac{t^{l}}{l!}\right)\left(\sum_{m=0}^{\infty} r^{m} \frac{t^{m}}{m!}\right) \\
& =\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n}\binom{n}{l} B_{n-l}^{(c)}(x) r^{l}\right) \frac{t^{n}}{n!} . \tag{22}
\end{align*}
$$

Therefore, by comparing the coefficients on both sides of (22), we get the following identity.

Theorem 5 For $n \geq 0$, we have

$$
B_{n}^{(c, r)}(x)=\sum_{l=0}^{n}\binom{n}{l} B_{n-l}^{(c)}(x) r^{l} .
$$

By (14), it can be checked that

$$
\begin{align*}
\sum_{n=0}^{\infty} B_{n}^{(c, r)}(x) \frac{t^{n}}{n!} & =e^{r t} e^{x\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)} \\
& =\sum_{m=0}^{\infty} x^{m} \frac{1}{m!}\left(e^{t}-1\right)^{m} e^{\left(r-\frac{m}{2}\right) t} \\
& =\sum_{m=0}^{\infty} x^{m} \sum_{l=m}^{\infty} S_{2}(l, m) \frac{t^{l}}{l!} \sum_{k=0}^{\infty}\left(r-\frac{m}{2}\right)^{k} \frac{t^{k}}{k!} \\
& =\sum_{m=0}^{\infty} x^{m} \sum_{n=m}^{\infty}\left(\sum_{l=m}^{n}\binom{n}{l} S_{2}(l, m)\left(r-\frac{m}{2}\right)^{n-l}\right) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} \sum_{l=m}^{n} x^{m}\binom{n}{l} S_{2}(l, m)\left(r-\frac{m}{2}\right)^{n-l}\right) \frac{t^{n}}{n!} \tag{23}
\end{align*}
$$

Therefore, by comparing the coefficients on both sides of (23), we establish the following theorem.

Theorem 6 For $n \geq 0$, we have

$$
B_{n}^{(c, r)}(x)=\sum_{l=0}^{n} \sum_{m=0}^{l} x^{m}\binom{n}{l} S_{2}(l, m)\left(r-\frac{m}{2}\right)^{n-l} .
$$

Now, we observe that

$$
\begin{align*}
\frac{1}{m!} e^{r t}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{m} \frac{1}{k!}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k} & =\frac{(m+k)!}{m!k!} \frac{1}{(m+k)!} e^{r t}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{m+k} \\
& =\binom{m+k}{m} \sum_{n=m+k}^{\infty} T_{r}(n+r, m+k+r) \frac{t^{n}}{n!} \tag{24}
\end{align*}
$$

On the other hand, it can be seen that

$$
\begin{align*}
\frac{1}{m!} e^{r t}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{m} \frac{1}{k!}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k} & =\left(\sum_{l=m}^{\infty} T_{r}(l+r, m+r) \frac{t^{l}}{l!}\right)\left(\sum_{j=k}^{\infty} T(j, k) \frac{t^{j}}{j!}\right) \\
& =\sum_{n=m+k}^{\infty}\left(\sum_{l=m}^{n-k}\binom{n}{l} T_{r}(l+r, m+r) T(n-l, k)\right) \frac{t^{n}}{n!} \tag{25}
\end{align*}
$$

Therefore, by (24) and (25), we obtain the following theorem.

Theorem 7 For $m, n, k \geq 0$ with $n \geq m+k$, we have

$$
\binom{m+k}{m} T_{r}(n+r, m+k+r)=\sum_{l=m}^{n-k}\binom{n}{l} T_{r}(l+r, m+r) T(n-l, k) .
$$

It is known that the generating function of central factorial is given by

$$
\begin{equation*}
\left(\frac{t}{2}+\sqrt{\frac{1}{4} t^{2}+1}\right)^{2 x}=\sum_{n=0}^{\infty} x^{[n]} \frac{t^{n}}{n!} \quad(\text { see }[7,8]) . \tag{26}
\end{equation*}
$$

If we let $f(t)=2 \log \left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)$, then we can easily show that

$$
\begin{equation*}
f^{-1}(t)=e^{\frac{t}{2}}-e^{-\frac{t}{2}} \tag{27}
\end{equation*}
$$

By the simple computations with the expressions in (1) and (2), we can check that $e^{(x+r) t}$ can be expressed as follows:

$$
\begin{align*}
e^{(x+r) t} & =e^{r t} e^{x t} \\
& =e^{r t} e^{2 x \log \left(\frac{e^{\frac{t}{2}}-e^{-\frac{t}{2}}}{2}\right.}+\sqrt{\left.1+\frac{\left(e^{\left.\frac{t}{2}-e^{-\frac{t}{2}}\right)^{2}}\right.}{4}\right)} \\
& \left.=e^{r t} e^{\log \left(\frac{e^{\frac{t}{2}}-e^{-\frac{t}{2}}}{2}\right.}+\sqrt{1+\frac{\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{2}}{4}}\right)^{2 x} \\
& =e^{r t}\left(\frac{e^{\frac{t}{2}}-e^{-\frac{t}{2}}}{2}+\sqrt{1+\frac{1}{4}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{2}}\right)^{2 x} \\
& =e^{r t} \sum_{k=0}^{\infty} x^{[k]} \frac{1}{k!}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k} \\
& =\sum_{k=0}^{\infty} x^{[k]} \sum_{n=k}^{\infty} T(n+r, k+r) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} T(n+r, k+r) x^{[k]}\right) \frac{t^{n}}{n!} . \tag{28}
\end{align*}
$$

Alternatively, the term $e^{(x+r) t}$ is also represented by

$$
\begin{equation*}
e^{(x+r) t}=\sum_{n=0}^{\infty}(x+r)^{n} \frac{t^{n}}{n!} \tag{29}
\end{equation*}
$$

Therefore, by (28) and (29), the following identity is obtained.

Theorem 8 For $n \geq 0$, we have the following identity:

$$
\begin{equation*}
(x+r)^{n}=\sum_{k=0}^{n} T_{r}(n+r, k+r) x^{[k]} . \tag{30}
\end{equation*}
$$

## 3 Extended $r$-central factorial numbers of the first kind

Throughout this section, we assume that $r$ is any real number. The (unsigned) $r$-Stirling numbers of the first kind $S_{1, r}(n+r, k+r)$ are defined by

$$
\begin{equation*}
(x+r)_{n}=\sum_{k=0}^{n} S_{1, r}(n+r, k+r) x^{k} \tag{31}
\end{equation*}
$$

Then

$$
\begin{equation*}
(1+t)^{x+r}=(1+t)^{r} \sum_{k=0}^{\infty} \frac{1}{k!}(\log (1+t))^{k} x^{k} . \tag{32}
\end{equation*}
$$

Further, we also have

$$
\begin{align*}
(1+t)^{x+r} & =\sum_{n=0}^{\infty}(x+r)_{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{n} S_{1, r}(n+r, k+r) x^{k} \frac{t^{n}}{n!} \\
& =\sum_{k=0}^{\infty} \sum_{n=k}^{\infty} S_{1, r}(n+r, k+r) \frac{t^{n}}{n!} x^{k} . \tag{33}
\end{align*}
$$

Combining (32) with (33), we obtain the generating function of $S_{1, r}(n+r, k+r)$ :

$$
\begin{equation*}
(1+t)^{r} \frac{1}{k!}(\log (1+t))^{k}=\sum_{n=k}^{\infty} S_{1, r}(n+r, k+r) \frac{t^{n}}{n!} . \tag{34}
\end{equation*}
$$

The central factorial numbers of the first kind $t(n, k)$ are defined by

$$
\begin{equation*}
x^{[n]}=\sum_{k=0}^{n} t(n, k) x^{k} \quad(n \geq 0) . \tag{35}
\end{equation*}
$$

Using (26) and (35), we have

$$
\begin{align*}
\left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)^{2 x} & =\sum_{n=0}^{\infty} x^{[n]} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{n} t(n, k) x^{k} \frac{t^{n}}{n!} \\
& =\sum_{k=0}^{\infty} \sum_{n=k}^{\infty} t(n, k) \frac{t^{n}}{n!} x^{k} . \tag{36}
\end{align*}
$$

On the other hand, we also have

$$
\begin{align*}
\left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)^{2 x} & =e^{2 x \log \left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)} \\
& =\sum_{k=0}^{\infty} \frac{1}{k!}\left(2 \log \left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)\right)^{k} x^{k} \tag{37}
\end{align*}
$$

By combining (36) with (37), we get the generating function of $t(n, k)$ :

$$
\begin{equation*}
\frac{1}{k!}\left(2 \log \left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)\right)^{k}=\sum_{n=k}^{\infty} t(n, k) \frac{t^{n}}{n!} \tag{38}
\end{equation*}
$$

Let us define the extended $r$-central factorial numbers of the first kind as

$$
\begin{equation*}
(x+r)^{[n]}=\sum_{k=0}^{n} t_{r}(n+r, k+r) x^{k} . \tag{39}
\end{equation*}
$$

Then we want to derive the generating function of the extended $r$-central factorial numbers of the first kind.

$$
\begin{align*}
\left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)^{2(x+r)} & =\sum_{n=0}^{\infty}(x+r)^{[n]} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{n} t_{r}(n+r, k+r) \frac{t^{n}}{n!} \\
& =\sum_{k=0}^{\infty} \sum_{n=k}^{\infty} t_{r}(n+r, k+r) \frac{t^{n}}{n!} x^{k} . \tag{40}
\end{align*}
$$

In addition, we also have

$$
\begin{align*}
\left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)^{2(x+r)} & =\left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)^{2 r} e^{2 x \log \left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)} \\
& =\sum_{k=0}^{\infty} \frac{1}{k!}\left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)^{2 r}\left(2 \log \left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)\right)^{k} x^{k} \tag{41}
\end{align*}
$$

Now, from (40) and (41), we have the generating function for $t_{r}(n+r, k+r)$ :

$$
\frac{1}{k!}\left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)^{2 r}\left(2 \log \left(\frac{t}{2}+\sqrt{1+\frac{t^{2}}{4}}\right)\right)^{k}=\sum_{n=k}^{\infty} t_{r}(n+r, k+r) \frac{t^{n}}{n!}
$$

Finally, we want to show a recurrence relation for the extended $r$-central factorial numbers of the first kind.

$$
\begin{aligned}
& \sum_{k=0}^{n+1} t_{r}(n+1+r, k+r) x^{k} \\
& \quad=(x+r)^{[n+1]}=(x+r)^{[n-1]}\left((x+r)^{2}-\left(\frac{n-1}{2}\right)^{2}\right) \\
& \quad=\sum_{k=0}^{n-1} t_{r}(n-1+r, k+r) x^{k}\left(x^{2}+2 x r+r^{2}-\left(\frac{n-1}{2}\right)^{2}\right) \\
& \quad=\sum_{k=0}^{n-1} t_{r}(n-1+r, k+r) x^{k+2}+2 r \sum_{k=0}^{n-1} t_{r}(n-1+r, k+r) x^{k+1}
\end{aligned}
$$

$$
\begin{aligned}
& +\left(r^{2}-\left(\frac{n-1}{2}\right)^{2}\right) \sum_{k=0}^{n-1} t_{r}(n-1+r, k+r) x^{k} \\
= & \sum_{k=2}^{n+1} t_{r}(n-1+r, k-2+r) x^{k}+2 r \sum_{k=1}^{n} t_{r}(n-1+r, k-1+r) x^{k} \\
& +\left(r^{2}-\left(\frac{n-1}{2}\right)^{2}\right) \sum_{k=0}^{n-1} t_{r}(n-1+r, k+r) x^{k} \\
= & \sum_{k=0}^{n+1}\left\{t_{r}(n-1+r, k-2+r)+2 r t_{r}(n-1+r, k-1+r)\right. \\
& \left.+\left(r^{2}-\left(\frac{n-1}{2}\right)^{2}\right) t_{r}(n-1+r, k+r)\right\} x^{k} .
\end{aligned}
$$

This verifies the following theorem.

Theorem 9 For any integers $n, k$ with $n-1 \geq k \geq 0$, we have the following recurrence relation:

$$
\begin{aligned}
& t_{r}(n+1+r, k+r) \\
& \quad= t_{r}(n-1+r, k-2+r)+2 r t_{r}(n-1+r, k-1+r) \\
&+\left(r^{2}-\left(\frac{n-1}{2}\right)^{2}\right) t_{r}(n-1+r, k+r) .
\end{aligned}
$$

## 4 Conclusions and discussion

In recent years, quite a number of old and new special numbers and polynomials have attracted attention of many researchers and have been studied by means of generating functions, combinatorial methods, umbral calculus, differential equations, $p$-adic integrals, $p$ adic $q$-integrals, special functions, complex analysis, and so on.

In this paper, we introduced the extended $r$-central factorial numbers of the second and first kinds and the extended $r$-central Bell polynomials, and studied various properties and identities related to these numbers and polynomials and their connections. This study was done by making use of generating function techniques.
The extended $r$-central factorial numbers of the second kind are an extended version of the central factorial numbers of the second kind and also a 'central analogue' of the $r$-Stirling numbers of the second kind; the extended $r$-central Bell polynomials are an extended version of the central Bell polynomials and also a central analogue of $r$-Bell polynomials; the extended $r$-central factorial numbers of the first kind are an extended version of the central factorial numbers of the first kind and a central analogue of the (unsigned) $r$-Stirling numbers of the first kind. All of these numbers and polynomials were studied before (see [7, 8, 10, 12]).
As one of our next project, we would like to find some interesting applications of the numbers and polynomials introduced in this paper.

## Availability of data and materials

Not applicable

## Competing interests

The authors declare that they have no competing interests

## Authors' contributions

Each of the authors, DSK, DVD, DK, and TK, contributed to each part of this study equally and read and approved the final version of the manuscript.

## Author details

${ }^{1}$ Department of Mathematics, Sogang University, Seoul, Republic of Korea. ${ }^{2}$ Kwangwoon Institute for Advanced Studies, Kwangwoon University, Seoul, Republic of Korea. ${ }^{3}$ Department of Mathematics, Pusan National University, Busan, Republic of Korea. ${ }^{4}$ Department of Mathematics, Kwangwoon University, Seoul, Republic of Korea.

## Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.
Received: 22 March 2019 Accepted: 13 June 2019 Published online: 21 June 2019

## References

1. Araci, S., Duran, U., Acikgoz, M.: On weighted $q$-Daehee polynomials with their applications. Indag. Math. 30(2), 365-374 (2019)
2. Carlitz, L.: Some remarks on the Bell numbers. Fibonacci Q. 18(1), 66-73 (1980)
3. Carlitz, L., Riordan, J.: The divided central differences of zero. Can. J. Math. 15, 94-100 (1963)
4. Could, H.-W., Quaintance, J.: Implications of Spivey's Bell number formula. J. Integer Seq. 11 (3), Article 08.3 .7 (2008)
5. He, Y., Pan, J.: Some recursion formulae for the number of derangements and Bell numbers. J. Math. Res. Appl. 36(1), 15-22 (2016)
6. Kim, D.S., Kim, T.: Some identities of Bell polynomials. Sci. China Math. 58(10), 2095-2104 (2015)
7. Kim, D.S., Kwon, J., Dolgy, D.V., Kim, T.: On central Fubini polynomials associated with central factorial numbers of the second kind. Proc. Jangjeon Math. Soc. 21(4), 589-598 (2018)
8. Kim, T.: A note on central factorial numbers. Proc. Jangjeon Math. Soc. 21(4), 575-588 (2018)
9. Kim, T., Kim, D.S.: Degenerate central Bell numbers and polynomials. Rev. R. Acad. Cienc. Exactas Fís. Nat., Ser. A Mat. 113(3), 2507-2513 (2019)
10. Kim, T., Kim, D.S.: A note on central Bell numbers and polynomials. Russ. J. Math. Phys. (2019, to appear)
11. Kim, T., Kim, D.S., Jang, G.-W., Kwon, J.: Extended central factorial polynomials of the second kind. Adv. Differ. Equ. 2019, 24 (2019). https://doi.org/10.1186/s13662-019-1963-1
12. Kim, T., Kim, D.S., Kwon, H.-I., Kwon, J.: Umbral calculus approach to $r$-Stirling numbers of the second kind and $r$-Bell polynomials. J. Comput. Anal. Appl. 27(1), 173-188 (2019)
13. Kim, T., Yao, Y., Kim, D.S., Jang, G.-W.: Degenerate $r$-Stirling numbers and $r$-Bell polynomials. Russ. J. Math. Phys. 25(1), 44-58 (2018)
14. Pyo, S.-S.: Degenerate Cauchy numbers and polynomials of the fourth kind. Adv. Stud. Contemp. Math. (Kyungshang) 28(1), 127-138 (2018)
15. Roman, S.: The Umbral Calculus. Pure and Applied Mathematics, vol. 111. Academic Press, New York (1984)
16. Simsek, Y.: Identities and relations related to combinatorial numbers and polynomials. Proc. Jangjeon Math. Soc. 20(1), 127-135 (2017)
17. Simsek, Y.: Identities on the Changhee numbers and Apostol-type Daehee polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 27(2), 199-212 (2017)
18. Zhang, W.: Some identities involving the Euler and the central factorial numbers. Fibonacci Q. 36(2), 154-157 (1998)

## Submit your manuscript to a SpringerOpen ${ }^{\bullet}$ journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Open access: articles freely available online
- High visibility within the field
- Retaining the copyright to your article

Submit your next manuscript at $>$ springeropen.com

